g 8 A A

AN EEANEER JgAE
M NS EEZ2WSI |8
ol AIRIZIBIE T 2EE| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CRANEER AL 23,806,558 17,635,375 6,231,183
= 3,650, 146
Al 20,216,412
ARSI E2 NEI|BtEH 23,490,877 17,268,520 6,222,357
== 3,650, 146
Al 19,840,731
AeIx s =2 8A | 14,541,134 10,564,440 3,976,694
< 3,650, 146
Al 10,890,988
W2 HEALS 400,800 400,800
401 AlZHIZL SO 400,800 400,800
01 Al&H| 400,000 400,000
OuxtZ WESE HEA
200,000,000& 200,000
OEHET =& & AL
200,000,000 200,000
03 A& CHYI 800 800 0
OWX=Z A 400,000,000 +0. 2% 800
M S A 4,108,200 3,456,900 651,300
401 AlZHIZL S0 4,108,200 3,456,900 651,300
01 Al&H| 4,100,000 3,450,000 650,000
OLHMZ R A
200,000,000 200,000
OSXNS XM 2Ig2 =S At
600,000,000 600,000
OSHANS =M 2Ig2=3At
800,000,000 800,000
O3z S 5t Xt MBAL
550,000,000 560,000
OTENMZ S M= HEEMS
550,000,000 550,000
O=EZ S S5l X EZMEBAL
150,000,000 150,000
OUEZ S 5t Xt MBAL
150,000,000 150,000
OWAMZ S 5 XHEEMEZAL
150,000,000 150,000
O=lZ S 5l X EZMEBAL
150,000,000 150,000
Odatz S 5t Xt MBA
150,000,000 150,000
OXHZ S B X A B AL
150,000,000 150,000
OuszZ S 5l A MEBAL
150,000,000 150,000




M E2AMNGER
M NS EEZ2WSI |8
R AESE E2EEE| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEgcIs 2 ZFAY
100,000,000 100,000
OOl 257 A MB A
250,000,000 250,000
03 Al 20HHI 8,200 6,900 1,300
OXHE A Z AL 4,100,000,0002 %0. 2% 8,200
WSHHAIZE EX X WAL 501,000 501,000 0
401 Al HIZL 01| 501,000 501,000
01 Al&H| 500,000 500,000
OUSHEAIE X & wHAE
300,000,000 300,000
OLLSHZ(0IHEZ S) FHIALY
200,000,000& 200,000
03 Al 20HHI 1,000 1,000 0
OUSHEAIZ=E X X WH AL
500,000,000 *0. 2% 1,000
C2ANE =2 1,216,610 970,564 246,046
201 er2&| 416,610 320,564 96,046
2 s5=34l 416,610 320,564 96,046
ORAWSHSEINCH HIIZBAEIS
2,300,000 * 15690 2 368,800
ORI USHSEI & A JIIes
10,0002 #2350 263 14,100
ORI WSS Stes
31,0002 #2350 A +63 43,710
401 A& HIX R0 800,000 650,000 150,000
01 AlZH| 800,000 650,000 150,000
OL2ZotN FAE+At
300,000,000 300,000
OB XES AL 500,000,000 500,000
HE0IES2S HHAISG (HEALY) 1,625,832 1,702,880 AT7,048
= 810,000
Al 815,832
401 Al HIZ 2018 1,625,832 1,702,880 AT7,048
= 810,000
Al 815,832
01 AlZH| 1,620,000 1,700,000 80,000
OMEZSSN S 4HA KBI0IES 7S Of
SAH 400,000,000 400,000
s 200,000
Al 200,000
OHFESSW S 44 RIS N
A 400,000,000 400,000
= 200,000
Al 200,000




A EEMEEE JgAL]
M NS EEZ2WSI |8
SRl ARIESE =2 EtE 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0l0IE2S79 NSAMAIE FHIAIS (M
2, 3Y) 380,000,000 380,000
= 190,000
Al 190,000
OO0El0|25 7 WSHMAIE FHIAIG (&
g.849) 320,000,000 320,000
< 160,000
Al 160,000
o002y JIZ2HE 889
120,000,000& 120,000
= 60,000
Al 60,000
03 Al = THHI 5,832 2,880 2,952
ONBI0IES 7Y HEAIY AIZ20H]
5,832,000 5,832
MEAOIHEZ HHIALY 250,000 0 250,000
= 125,000
Al 125,000
401 Al HIZ 2018 250,000 0 250,000
= 125,000
Al 125,000
01 AlZH| 250,000 0 250,000
OdEA0H=Z FH| 250,000,000 250,000
S 125,000
Al 125,000
E2Jls "A2e 8,050 41,050 A33,000
201 2= 2,530 2,530 0
01 AtR2t2lt] 1,530 1,530 0
OB 285|7} URANA S0
2,000 *100=2+57H 1,000
OUHIE = U= 265
o=22= 90,0002 *14 0
Oogst=s 100,000 *1& 100
Oetd gt 60,0002 *1& 60
o= 15,0008 %14 15
OSRA(RII1H <) L= 265
OoZ282= 90,0002 *1 D
Oogset= 100,000+ 1 100
Oetd gt 60,0002 *1& 60
o= 15,0008 %14 15
02 S3=gHl 1,000 1,000 0
ORI £I| =
1,000,000& x1& 1,000
206 M=l 520 520 0




A EEMEEE JgAL]
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 520 520 0
OWAIY Hs HHES 520
OINk=2= 20,0002 10K 200
Octdr2 10,0002 +10H 100
octedg 2,2002 *100H 220
305 Hia =S 5,000 5,000
01 that=S 5,000 5,000
OLSHEAIL ADEY Hias
500,000 %102 5,000
Ngs Mepop2|(<h) 9,146 9,146 0
< 9,146
401 AIEHIL 2] 9,146 9,146 0
= 9,146
01 Al&H| 9,146 9,146 0
AP NYE B 22
9,146,000& 9,146
< 9,146
SOINSEHEHH S AXI(HEAY) 530,000 420,000 110,000
== 265,000
Al 265,000
401 AIEHIZ R HYI 530,000 420,000 110,000
< 265,000
Al 265,000
01 Al&H| 530,000 420,000 110,000
OReINSHETY S &X
530,000,000& 530,000
= 265,000
Al 265,000
WSAD T2 2 HAAL (HEALY) 1,284,608 1,282,944 1,664
== 640,000
Al 644,608
401 AIEHIZ R 0HYI 1,284,608 1,282,944 1,664
[ 640,000
Al 644,608
01 Al&H| 1,280,000 1,280,000 0
OZMAIHEl S 204 WEALD 2 2 i
A 320,000,000& 320,000
= 160,000
Al 160,000
O el S ML WSAtD &2 2 N
SAFS 480,000,000& 480,000
== 240,000
Al 240,000




A EEMEEE JgAL]
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMTAIZ S a4 DEAID Be = O
&AL 480,000,000& 480,000
= 240,000
Al 240,000
03 AIESTHYI 4,608 2,944 1,664
OuEALD &2 R LA AR
4,608,000 4,608
COIES P JHEAIS (HEALY) 503,600 508,368 N4,768
= 250,000
Al 253,600
401 Al HIZ 2018 503,600 508,368 N4,768
= 250,000
Al 253,600
01 AlZH| 500,000 507,000 AT7,000
ODl7bel 0= & A RS
HE AL 260,000,000 260,000
s 130,000
Al 130,000
Oou=2el d2E S 4L L2572 I
ALY 240,000,000 240,000
= 120,000
Al 120,000
03 AIZSTHYI 3,600 1,368 2,232
LOIES 2 AN AlE= 08I
3,600,000& 3,600
SIEWXZ XA (HEAL) 561,288 561,288 0
< 280,000
Al 281,288
401 Al HIZL 201 561,288 561,288 0
= 280,000
Al 281,288
01 Al&HI 560,000 560,000 0
OF=EHIHel = ¥ uXZ EXIANY
280,000,000 280,000
= 140,000
Al 140,000
OEB4ssl =¥ M WIZ EXIAMY
280,000,000 280,000
< 140,000
Al 140,000
03 Al 2 HYI 1,288 1,288 0
O3IMWAZ EXIAIY AL S
1,288,000 1,288
SEEA HEAI (D EALY) 1,000,000 300,000 700,000
== 500,000




A EEMEEE JgAL]
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 500,000
401 AIEHIX 20 1,000,000 300,000 700,000
=S 500,000
Al 500,000
01 AlZ8| 800,000 300,000 500,000
Oxs(=2=2) SEE HAAIY
800,000,000 800,000
< 400,000
Al 400,000
02 2Z2lH| 200,000 0 200,000
O4S(+2B) SHBA Ho AA 22
9 200,000,000 200,000
= 100,000
Al 100,000
002579 RAEsAr 800,000 800,000
401 AIEHIZ SR 0HYI 800,000 800,000
01 Al&H| 800,000 800,000
O0el0I25 7Y JHe & FX2eA
800,000,000 800,000
2SS AL 200,000 200,000
401 Al HIZ S 0HbI 200,000 200,000
01 Al&H| 200,000 200,000
OZMAES 7 IHE AL
200,000,000 200,000
A2 PEINEAMG (HEAI) 242,000 0 242,000
< 121,000
Al 121,000
401 Al HIZL S 0HYI 242,000 0 242,000
S 121,000
Al 121,000
01 Al&H| 242,000 0 242,000
OYBEEZ XA
242,000,000 242,000
= 121,000
Al 121,000
NANSHESAINLAIY S22 (HEAY) 1,300,000 0 1,300,000
== 650,000
Al 650,000
401 AIEHIZ R HYI 1,300,000 0 1,300,000
< 650,000
Al 650,000
01 Al&H| 1,300,000 0 1,300,000
OXNSHWSHESZINLAIY T2+
1,300,000,000& 1,300,000




SH: ERARIES READ
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 650,000
Al 650,000
=SMWEI|BtEY 2,871,103 3,318,080 N446,977
ANEHOIE 4ot 78,030 481,257 N403,227
201 fer23| 32,030 31,430 600
01 AtR2t2|HI 28,550 27,950 600
OXNEA Ol 88 cIEH HH
100&%55,0000H 5,500
OFFAD NEHLE 2 B0t
150, 000& #4794 2 7,050
OXNEH WS T BA=E
80,0002 2002 16,000
02 S3=gHl 3,480 3,480 0
ORAd ANEAUNA &A=l
3,000,000& 3,000
ORad NENUMA HIILS
40,0002« 122 480
307 elztol & 28,000 26,000 2,000
05 21t S 28,000 26,000 2,000
OMENUNA € FEdHsE 29
28,000,000& 28,000
402 2I2F X201 & 15,000 30,000 15,000
01 gltXt= ALY (REAMITH &) 15,000 30,000 A15,000
O&IIRAEA 2 X
300,000 *50H 15,000
405 AHAHE S 3,000 2,000 1,000
01 AL =S F = 3,000 2,000 1,000
OF4AdE NHEAUAEA IHEA Y
300,000& = 10CH 3,000
NEHAE =2 AE 379,875 380,750 2875
401 AlZHIZ 01| 379,875 380,750 A875
01 AlZH| 378,075 378,950 AB75
ONENHERZ FR 22| A (L=546.9%km)
250,000,000 250,000
OXNEHEZH SHI|IA
20,000,000 20,000
ON&EA 220U XA
600,000 x20% 12,000
OXEH WSHETXIE HHIAE
200,000 *1007H 2 20,000
OXNENEEER HEXYE FHIAY
150,000 * 1009H 2 15,000
OXNEH e EXA
5,000,000 * 1091 £ 50,000
OXEHOIZAIE SXZCIAMY HAIZHE
B 250,000,000 *4.43% 11,075




AN EEANEER JgAE
M NS EZWSI |8
Bl sMuSI|gEy (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 1,800 1,800 0
OXNENEZ |22l AU
250,000, 0002 %0.72% 1,800
NSHALMHE Lo 2SAY 2,000 1,000 1,000
203 HR=AH] 2,000 1,000 1,000
03 A=A PR FZ| 2,000 1,000 1,000
ogerg Rz 2,000,000& 2,000
C2AIE 2t 66,198 68,338 A2,140
201 2= 51,198 53,338 A2,140
01 AtR2t2lt] 35,646 37,786 22,140
Caely HekzE MA
33,0003 x30F+43] 3,960
Oz 2elyos| 2@ A
100,000 x 12 *23] 2,400
OCZAHZF HRHEAN M
22,0002 x50 +82] 8,800
OJIeMERE USHE USsUM M
16,5003 *300 4,950
O==2(LH2tZEH,201E)
100,000 %102 1,000
O=E=3Xcdl 28EJt ==&
500,000 2 A+ 13l 1,000
OHZHIRY NWBEELER
20,0002 ~259 500
OXNEAF HEE 223 1,936
(@F=F= 330,000 x48f A 1,320
OL® 154,000 *4SET 616
O=IHgEX H=g
25,0002~ 12 300
O=ZAY =& =SXHE SAt
900,000 «1CH*12& 10,800
02 S3=gHl 15,552 15,552 0
OEAHR & B T2 =Al22/d] 3,462
O=4ZZ2 8 |Al2cdl
140,000~ 12& 1,680
OSADBXIZ (DFinder) SAIZ2IH]
17,820,000 *10% 1,782
osExteE 22 12,090
Ooxzze|2g= 850
-S8i S 350,000 »1CH 350
-3l=x 4™ 500,000 *1CH 500
OXt&= Albl 11,240
-SEXt 4,900,000 1CH 4,900
-SEXt 4,300,000 ~1CH 4,300
RPN 2,040,000 *1CH 2,040




SN TRARIZS REZAY
M NS EZWSI |8
Chelr sMNSI|BES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 15,000 15,000
03 A=A 2= 15,000 15,000
Odgde ge=d 9,000,000& 9,000
OAdae slor & QA =8
6,000,000& 6,000
ZE(S8-017) HANEZ ZEAY 50,000 50,000
401 AIEHIZ SR 0HYI 50,000 50,000
01 Al&HI 50,000 50,000
o “ﬂ NENE2 ZHAFE(1EH) AAIL
HE 50,000,000 50,000
AEHOIEEdE ?let HAHER FH 1,315,000 1,315,000
401 AIZHIZ S0 1,315,000 0 1,315,000
01 Al&H| 1,315,000 0 1,315,000
O2E WsER L@ NHENEZ FHIZAHL
=6.0km) 400,000,000 400,000
ORE MACK L NENHEZ FHISAHL
=6.0km) 400,000,000& 400,000
OYdx=Se W L NHEANEZ2 FHISAHL=
0.75km) 360,000,000 360,000
o=sls ASA=2dAESH & NHEHER
A HIZAHL=0.30km) 80,000,000 80,000
O== 3168 L& ANEAHEZ FHISAHL=0.15
km) 75,000,000 75,000
MRS 2~-FS e HENEZ ZEAMY 20,000 20,000
401 AIEHIZL 20 20,000 20,000
01 Al&H| 20,000 20,000
OXRMF2~FE5uel NHAHCZ ZHAIS
AAIEAHZE A (L=0.55km) 20,000,000& 20,000
NEH0IE 43S =8 89 60,000 60,000
401 AIEHIX R0 60,000 60,000
01 A28l 60,000 60,000
OXN&ENOIE gdatHE =8 9
60,000,000 60,000
57 ZEH0N & d8AHS AUSHO Wi SAt 100,000 0 100,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&H| 100,000 100,000
O=3+ M0 & HdEHS NSHA w
M SAk 100,000,000 100,000
QF WEtAtHEA AEANEZ HISAH 800,000 800,000
401 AIEHIX R0 800,000 800,000
01 A28l 800,000 800,000
O2F MsrMHEA HEANEZ FHISA
800,000,000 800,000
sE C2Y =3 6,078,640 3,386,000 2,692,640
S-S E2EEESAM 400,000 600,000 A200,000




SN TRARIZS REZAY
M NS EZWSI |8
(el =& T2 &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 400,000 600,000 A.200,000
02 Zeltl 400,000 0 400,000
O=H~-ZR2 TZ2EHLIIA AL A H 2]
9 400,000,000 400,000
TE~gHt EFE LY ZAL 200,000 947,000 AT47,000
401 Al HIZ S OHbI 200,000 947,000 AT47,000
02 Zeltl 200,000 0 200,000
O7E~ahi2t ZSEHIFZAL AL AIG 2t
=9 200,000,000 200,000
S0 Z2el E2EIHESA 200,000 252,000 /52,000
401 AlEHIZL S0 200,000 252,000 /52,000
02 Zeltl 200,000 0 200,000
O=0| el LTI AL AH 2]
g9 200,000,000& 200,000
P dFIC T2 YA 200,000 200,000 0
401 AlEHIZL =Y 200,000 200,000 0
02 Zeltl 200,000 0 200,000
02% HFIC TZ2ELIIA AL AH2
clE9 200,000,000 200,000
g4 sl T2EHEESA 200,000 177,000 23,000
401 AlEHIZL SO 200,000 177,000 23,000
02 Zeltl 200,000 0 200,000
Odd titte] T2EHIIIA AL AL 2]
g9 200,000,000 200,000
O Sl =SSHEIIA} 200,000 200,000
401 AIEHIX R0 200,000 200,000
02 Zeltl 200,000 200,000
OlIH Scl E2HEISAI ALAE 2SS
B 200,000,000 200,000
e &fokel I EXIS AL 400,000 0 400,000
401 A2 HIRL R 0HbI 400,000 400,000
01 Al&H| 400,000 400,000
OJte &fokel I=AXIBAHL=0.5m)
400,000,000 400,000
e =Scl A=ERSA 600,000 0 600,000
401 AIEHIZ SO 600,000 600,000
01 Al&H| 600,000 600,000
Ot =2l e H XIS AHL=0.65km)
600,000,000 600,000
S0l S4el Z2EHEESA 297,000 0 297,000
401 Al HIZL R 0HbI 297,000 297,000
01 Al&HI 297,000 297,000
O=0| Ade| 2L EZAHL=1.3km)
297,000,000 297,000




SN TRARIZS REZAY
M NS EZWSI |8
(el =& T2 &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g2 £¢2(387) E2AEYIA 332,000 332,000
401 AIZHIZ SO 332,000 332,000
01 Al&HI 332,000 332,000
O &22/(3837) SE2E LT AHL=1.43km)
332,000,000 332,000
ST~ E2EEEBA 201,000 201,000
401 AlZHIZ SO 201,000 201,000
01 A28l 201,000 201,000
O&E~2512t 2 &L ETZAHL=0.7km)
201,000,000& 201,000
e~ E2E L EZAL 313,000 313,000
401 AIZHIZL SO 313,000 313,000
01 Al&H| 313,000 313,000
Oa -2t T2 ETAH(L=0.83km)
313,000,000 313,000
QE Hel(237) T2EHEIYIA 220,000 220,000
401 AIZHIX 20 220,000 220,000
01 A28l 220,000 220,000
0% 2el(237) S2E I EIAHL=0.63km)
220,000,000 220,000
OIR Jtel S22 I A 404,000 404,000
401 AlEHIZL SO 404,000 404,000
01 Al&HI 404,000 404,000
OO0IY Jt2e| =2 ZEHSAHL=1.68km)
404,000,000& 404,000
S4JtEel E2EEESAL 235,000 235,000
401 AIEHIX R0 235,000 235,000
01 A28l 235,000 235,000
O=4F Jtete| S2E T I AHL=0.67km)
235,000,000 235,000
CSWRNZHES) S22 ZE A 227,000 227,000
401 A2 HIRL 201 227,000 227,000
01 Al&HI 227,000 227,000
OLsn~AXWH(EE) C2HELFIZAHL=1.
2km) 227,000,000 227,000
I~ LA EZ2E R ITAL 1,100,000 1,100,000
401 AIEHIX SO 1,100,000 1,100,000
01 AlZH| 1,100,000 1,100,000
OQIB~ZARE E2S I IZ A1) ((L=1.7km)
1,100,000,000& 1,100,000
282 S3AIE ZHIAKY 281,000 281,000
401 A2 HIZL R 0HbI 281,000 281,000
01 Al&HI 281,000 281,000




SN TRARIZS REZAY
M NS EZWSI |8
H?el =& 2% =5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O229 gl MEZHIAE (L=320m)
192,000,000 192,000
00l AEe| MEZHIAFE (L=100m)
89,000,000& 89,000
ANE 2846 S 3 = E279 2F(HEY) 84 68,640 68,640
401 AIEHIZ SR 0HYI 68,640 68,640
01 Al&HI 68,640 68,640
OAE 12848 S 3 E27Y 2H(BHE
) 89 68,640,000 68,640
HH2ALH(E2AME 2R FEHE) 375,681 366,855 8,826
el 2E | 309,561 303,69 5,866
eIl 309,561 303,695 5,866
101 ©1AH| 303,584 297,028 6,55
01 2= 244,415 238,069 6,346
O AlAZR+Z
11,1303 +61H*30A1 2t 12 244,415
02 JIEtME = 6,5% 6,335 261
OAIZMETLIINI(O0HS) AltRIZ224E
9, 1602 =2 *30A| 2+ 12 6,59%
03 SRA(RIH )22 HE S 52,573 52,624 A51
OWMAIY HEA(LIS) 52,573
OoJlzs 34,475
-173 Xt 2,872,9108x18~12& 34,475
O=g 14,945
=25g 143,6402 <1+ 122 1,724
&5 220,000 x1& 128 2,640
SAesg 50,000 x1&* 122 600
-HEZ2g
20, 1003 * 12 =30Al 2+ 123 7,236
g 50,0002 x1& 122 600
-AXtg 107, 2102 x1&»20 2,145
OEE=Itd| 1,436,460 x1&+23] 2,873
OdHZAH| 140,0003 *1&+23] 280
04 HSRESS 5,977 5,867 110
01 gsf8=s 2,407 2,405 2
o=z F8= 53,473,0002 *4.50f% 2,407
02 2UAHZEES 2,099 2,045 54
O=2AIEY FE= 2,09
O=gAH2dES 53,473,000 +3.495% 1,869
OFIIRYEE 1,869,000 %12.27% 230
04 SR (RIHA)22N BEE=RES S 1,471 1,417 54
0Ls2d € LHiEE fEs 1,47
(@NIE=ot = 53,473,000 *1.75% 936
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0234 20ilat LE E2AHESR DAL ~ T2AIY2F old
AN EEANEER E2AIE0
M BOITAl (HH] ASNOl OIME TRINEY PE
ol FRAMd FAEZ2Y )| A= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CRANEER TZAIZL 19,611,374 12,141,594 7,469,780
ZATAl CHHl SSHQI otMEt C2se A= 19,552,147 12,082,927 7,469,220
TR ZAEZL I A5 5,115,000 5,090,000 25,000
FFO0IHANE LSS X 1,000,000 0 1,000,000
403 AXIEHHSAH=Z01d 1,000,000 0 1,000,000
02 SVI2S0 U H=E P EAIEI 1,000,000 0 1,000,000
OFFo0INHANE LSS &XI(L=0.2km, B=20m)
1,000,000,000& 1,000,000
NRZ(AIAH~=EAC) &2 1,400,000 2,000,000 600,000
401 Al HIZL 01| 1,400,000 2,000,000 600,000
01 Al&H| 1,000,000 2,000,000 1,000,000
ONRZ(AZAAHI-=EAAR]) & (L=1.5kn
, B=35m) 1,000,000,000& 1,000,000
02 Zeltl 400,000 0 400,000
ONBZ(AIAHC~=EAC]) & AL
A2 =S 400,000,000& 400,000
ocleE ¢ &2 24X 1,880,000 1,000,000 880,000
401 AIEHIZL SO 1,880,000 1,000,000 880,000
01 Al&HI 1,500,000 1,000,000 500,000
O&lelHE & HZ2 AXI(L=0.53m, B=5m)
1,500,000,000& 1,500,000
02 Zeltl 380,000 0 380,000
O4eleg o 2 X AL 28
B 380,000,000 380,000
HotAE=s YA 825,000 700,000 125,000
403 AXIEHHSAH=201H 825,000 200,000 625,000
02 S 2SOt st =& 2 E AL H] 825,000 200,000 625,000
OABHE S UMBAY (L=228.756m, B=8.5~14.1m)
825,000,000 825,000
= CRALME EEE s MH 10,000 10,000
201 er23| 10,000 10,000
01 At2teltl 10,000 10,000
OF=ZAHEANY EF= MH
10,000,000 10,000
CHUS 24Kl  AETAl 2 13,214,732 5,494,422 7,720,310
SAAE JIEHYEX 24 834,000 969,000 135,000
401 Al HIZ S 0HbI 834,000 969,000 135,000
01 AlZ8| 834,000 969,000 135,000
OIS 24 (B=12m 014)
800,000,000 800,000
ON&td HE =2 34,000
O=2gsg ==& 400,000 «30& X 12,000
ORHEI} 442
200,000 302 X|+27| 2t 12,000




2A:

CEANEER E2AEL

M AT ] ASHel OHE T2DEY 7F
9l TADE BAHR Y OECA 78 (crel: g)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OSIIESY === 100,000& 30! X| 3,000
OJBYER JHHE SIBSG44R
500,000& 142 X| 7,000
E2I1HY AlSME &I 10,732 25,422 A14,690
201 =3 10,732 12,732 A2,000
01 AFS2t2ltl 7,500 9,500 A2,000
OAI= AR D] 7,500
OAISMARD| AEHIE(EEE, XIH)
300,000 x25 X 7,500
02 2324l 3,232 3,232 0
O3l+=8 fH= 2,500 %1501 122 450
OAB(OtHZ) BE3 500,000 22 1,000
O ABXIZ (Df inder ) R X 2=t
148,500& 122 1,782
DISd MYE=Z WHIZ EXISA 2,310,000 2,310,000
401 Al HIZ 2018 2,310,000 2,310,000
01 AlZH| 2,310,000 2,310,000
O0I5d HYER WHXZ HXISAHL=.12kn
B=5—8n) 2,310,000,000& 2,310,000
FHNZ =E 1,500,000 1,500,000
401 AIEHIZL 2 OHYI 1,500,000 1,500,000
01 AlZHI 1,500,000 1,500,000
ORHAMZ &H(L=0.9km, B=15—-20m)
1,500,000,000& 1,500,000
ME=LD & E2=H 2,000,000 2,000,000
401 Al HIZL 201 2,000,000 2,000,000
01 A=l 2,000,000 2,000,000
OME =D o =2&HEH(L=0.35km, B=10—25m)
2,000,000,000& 2,000,000
ES OIFSE A NSHAR S2HE 200,000 700,000 500,000
401 AIEHIZL R OHYI 200,000 700,000 /500,000
02 Zcldl 200,000 0 200,000
OUIESS OIS A NEHAR Z2IHE
A 2e|2S 200,000,000 200,000
HEZ T IAM 500,000 500,000
401 Al HIZL 201 500,000 500,000
01 Al=H| 500,000 500,000
OZYZ SHEBAHL=0.384m, B=15—20m)
500,000,000& 500,000
Old= OISdY=Z HE SAt 1,000,000 1,000,000
401 AIE2BIXL S THYI 1,000,000 0 1,000,000
01 AlIZHI 1,000,000 0 1,000,000
O0l18= O2de2 e ZSAHL=0.5km, B=15m)
1,000,000,000& 1,000,000




D EZAEER E2AIE 0

YAl EHHI ASHO e T2usSe A5
SAuE 24tHel Y CHEEA 28 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HIstS SAIHEEZ S2IHESAHHIoISEl#Y) 700,000 700,000
401 Al HIZL 201 700,000 700,000
01 Al&HI 700,000 700,000
Otlsts SAIHECZ S2IHAEZAHL=0. 17km,
B=12m) 700,000,000 700,000
drd A3 MU Z EYSA 2,000,000 2,000,000
401 AlZHIZ SO 2,000,000 2,000,000
01 A28l 2,000,000 2,000,000
OZ+8 I U2 ST AHL=0.208km,
B=28m) 2,000,000,000& 2,000,000
HEZ60Z “2HEIA 2,000,000 0 2,000,000
401 Al HIZL 01| 2,000,000 2,000,000
01 Al&H| 2,000,000 2,000,000
OlE260812 =2 & ESAHL=0. 13km, B=20m)
2,000,000,000& 2,000,000
EYs Sclits =2 HESAM 160,000 160,000
401 Al HIZ S OHHI 160,000 160,000
01 A28l 160,000 160,000
Os%s Ze2lite S2IHESAHL=102n, B=16m)
160,000,000 160,000
T2 AlE fX2el 72,415 98,505 A26,090
aIFMeH(=2)2el 52,415 48,505 3,910
201 el 50,415 46,505 3,910
01 At2t2ltl 47,622 44,202 3,420
O="Mat 2el=== 28,562
OBA=EY =2 885,400 +30E X| 26,562
OSII=E ==& 100,000& 202 X| 2,000
O=2Nit2e| =57
70,0003 *30H 2,100
OAE Jl=(38 S)7ds FAsg
100,000& x5 & #53] 2,500
O=7Met & T2 AR e A=
855,000 10~ 128 10,260
O824 R0(SS3012 FHlol TE Algl
28) 60,0002 104 600
OEARL T2 F 3,000,000& 3,000
O&A=L Z20d JO01=
600,000 600
02 S3=gHl 2,793 2,303 490
O==ML & TZ2HEHR SR =7
u 1,9393 8 £ »1CH*180L 2,793
203 HR=&H] 2,000 2,000
03 A=A R =AH] 2,000 2,000
OL=2HE 2= 2,000,000& 2,000
2SS SelAIAE 2] 20,000 50,000 30,000




2A:

CEANEER E2AEL

M FYTAl Y SSHO otME E2Se A=
tel: E2 AlE Xzl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 20,000 50,000 230,000
2 52484l 20,000 50,000 30,000
O==2xY 22lAAY | 2
20,000,000& 20,000
SEANY DgLAS e JIBAE &5 1,150,000 1,400,000 250,000
+=o~Z2t T2IHE S A 1,000,000 1,000,000
401 AlZHIZ SO 1,000,000 1,000,000
01 A28l 1,000,000 1,000,000
O==2~8U2t 2L SAHL=5.2km, B=4—12m)
1,000,000,000& 1,000,000
A28 RATXZ HLSA 150,000 0 150,000
401 Al HIZL 01| 150,000 150,000
01 Al&H| 150,000 150,000
OSERIIH R3|MIZ2 NS AHL=75m, B=5m)
150,000,000 150,000
HYRHHHI(S2AIED) 59,227 58,667 560
J1I=288l 59,227 58,667 560
JI=23Hl 59,227 58,667 560
201 2egh=3| 28,627 26,867 1,760
01 At2t2lt] 27,566 25,806 1,760
OJ|=g =8B 500,0003 x22E «97% 10,670
O=EH| 8,0003 x22ZH 8L x 12 16,89%6
02 S3=gHl 1,061 1,061 0
O™ I AFEHl =AY 1,061
o=gl 4,202,0002 *1CH 8% 337
OZ2=2HZelH 9,048,000 *1CH 8% 724
202 04l 26,400 27,600 21,200
01 =LHAHI 26,400 27,600 1,200
©J1=2Z24| 20,0003 x2H 52 x 12 26,400
203 HR=4AH] 4,200 4,200
M FANEHYERFAY 4,200 4,200
OJ1EAH(2521015t) 350,000+ 122 4,200




Al £ Ol & AF e & Al A
0288 20lat LEBH C2AIEER 2EALl ~ TSAEESF otd
A ZZANHER ot&
B KOID OfRA OHEE MoIGHA
C9l: THHZRE OHMEH 01Tt p= (12l M2
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
CRAHEF oAt 15,866,440 14,761,693 1,104,747
= 3,319,000
[ 3,385,000
= 1,443,000
Al 7,719,440
A 01 &l er&st HGHA 15,811,280 14,711,740 1,099,540
= 3,319,000
[ 3,385,000
= 1,443,000
Al 7,664,280
Mol 2RE ot&Er elZet = 8,725,674 6.862,984 1,862,690
= 3,385,000
[ 1,443,000
Al 3,897,674
L=MFAIE RR2k 144,114 113,024 31,090
201 er2 3| 104,114 73,024 31,090
01 At2t2lt] 4,414 3,224 1,190
OUEXIT S=MFAIE HI|orM 2| CHEH
T2 341,300 +7& 2,390
OMAXIT LI AL MI|orM 2| CHEH
St 154,600 +7& 1,083
O==Z2X7 RFMFIAIE MI|erM 2| CHEH
et 134,400 +7E 94
2 s5=4g4l 99,700 69,800 29,900
OAEEHISs Xl 5,000,000 82 40,000
03ER= 59,700
(OFSPIETE= 2,500,000 *3 272 52,500
OSHad ME=
200,000 x304 2=+ 123 7,200
401 AlZHIZL SO 40,000 40,000
01 Al&HI 40,000 40,000
OR=MNFAlIE 2el 20,000, 000& »23] 40,000
A7 Saofl HEH SeSIHIAY 5,160,000 2,170,000 2,990,000
[ 2,580,000
= 774,000
Al 1,806,000
401 AlEHIZ R0 5,160,000 2,170,000 2,990,000
= 2,580,000
< 774,000
Al 1,806,000
01 Al&H| 5,160,000 2,170,000 2,990,000
Og Ltk Saoff & SeIdIAY
5,160,000,000& 5,160,000
= 2,580,000




A ZZANHER ot&
B KOID OfRA OHEE MoIGHA
C9l: THHZRE OHMEH 01Tt p= (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 774,000
Al 1,806,000
XYotd sXl2el At 280,000 280,000
= 280,000
401 AlEHIZL SO 280,000 280,000
< 280,000
01 A28l 280,000 280,000
OF4d Xlgotd ot EBIAY
60,000,000 60,000
== 60,000
Ogdd Xlotd ot EBIAY
50,000,000& 50,000
== 50,000
OEEd Xlotd ot EBIA
170,000,000 170,000
=S 170,000
S01H 22 THoH M2 ALS 200,000 200,000
= 200,000
401 AlEHIZL SO 200,000 200,000
& 200,000
01 A28l 200,000 200,000
O=01H 22 THoHM ZALS
200,000,000 200,000
< 200,000
AEX T KA E N X+ FHIAS 400,000 400,000
[ 200,000
= 60,000
Al 140,000
401 AIEHIX SO 400,000 400,000
= 200,000
< 60,000
Al 140,000
01 Al&H| 400,000 400,000
AN AN E S X EHIAE
400,000,000& 400,000
= 200,000
< 60,000
Al 140,000
JER T Ao RIE HE X+ EHIAY 860,000 860,000
= 430,000
[ 129,000
Al 301,000
401 AlEHIZL S0 860,000 860,000
s 430,000




2A: E2AIE=2F otE Dt
M T RAE OHMEH MAHGHA
&2l Mol2RE HMEE QlZet 15 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 129,000
Al 301,000
01 Al&Hl 860,000 0 860,000
QI X7 NATHHRIE NS KT FHIAIY
860,000,000& 860,000
s 430,000
= 129,000
Al 301,000
A0t XS =% HE AIAEH =AY 350,000 0 350,000
s 175,000
Al 175,000
401 A& B 20HY| 350,000 0 350,000
s 175,000
Al 175,000
01 AlEHI 350,000 0 350,000
OADIE HS2CIAIAE ASAMY B4
350,000,000& 350,000
s 175,000
Al 175,000
HESA0IE HUIAIH(HBAY) 250,000 0 250,000
401 AlEHIZ 200 250,000 250,000
01 Al&HI 250,000 250,000
OZSAGHE ZHIAIG (HEALY)
250,000,000& 250,000
A0tE R EAS 1,000,000 200,000 800,000
401 Al&HIZ 20| 1,000,000 200,000 800,000
01 AlEHI 1,000,000 200,000 800,000
Oxotd R E=H| 50,000,000& 202! 1,000,000
SAUAIE HY DIX=SK 24 81,560 51,560 30,000
201 LBt2| 1,560 1,560 0
01 ArR22eltl 1,560 1,560 0
OBAHRFX T2 FX|2el
130,000& «12& 1,560
401 A& B 20HY| 80,000 50,000 30,000
01 AlEHI 80,000 50,000 30,000
20td DIXI=S8X 24| 80,000
OB4H & =2 S 80,000,000& 80,000
ME D TAO| BESHE MEHSHE =4 879,492 2,619,538 1,740,046
AR OIS =32 AIEAIY 724,492 0 724,492
401 AIEHIZL 200 724,492 0 724,492
01 AIZHI 720,000 0 720,000
ORa & 22 T4 B AH50,000& *6,000m")
300,000,000 300,000




A ZZANHER ot&
B KOID OfRA OHEE MoIGHA
Tl AIRIDE XIQI0] DESHS MENGHE T4 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORAF M2 T2HX|Y HXIBAH75,000
2142,6677H) 200,000, 0002 200,000
ORA DX BEZAL L HAILH B
20,000,000 20,000
OSAE 22X +SFHITAH?2,87521+80,000m
) 200,000,000 200,000
03 Al 20HHI 4,492 0 4,492
OAIE20HYI 4,492,000& 4,492
HEISHE SAIY AIR2LIHE 185,000 105,000 50,000
401 AIEHIX S0 185,000 105,000 50,000
01 AlZH| 155,000 105,000 50,000
OZ=d HdEHotE SEAE M=2LIHEE
A(BREE) 41,000,000& 41,000
OESd dEHold S2AE AIZ2LIEHES
A(5REE) 64,000,000 64,000
O4atd dHotd S2AE AIR2LIHES
AIREE) 50,000,000& 50,000
AR D XHAO| Ol R N Mot 8 6,206,114 5,229,218 976,8%
= 3,319,000
Al 2,887,114
THE S2= SZIEAMY 224,000 224,000
401 Al HIZL R 0HbI 224,000 224,000
01 Al&HI 224,000 224,000
OZdsS S2&= SZIEMY JIE & &4
2AHE9 224,000,000 224,000
=Itote RXAI2e|A 3,221,000 2,761,000 460,000
= 3,221,000
201 =3 316,176 316,176 0
= 316,176
02 S3=gHl 316,176 316,176 0
03&R= 136,176
Oti=2 StL=s
88,0003 4604 2% 123 48,576
= 48,576
Otf=2 &= 7,300,000~ 128 87,600
= 87,600
OAIE2 &= X 180,000,000 180,000
= 180,000
401 AlZHIZ SO 2,904,824 2,444,824 460,000
= 2,904,824
01 Al&HI 2,900,824 2,440,824 460,000
O=lotd FAIZcIAt
2,900,824,000& 2,900,824
= 2,900,824
03 Al 20HHI 4,000 4,000 0




A ZZANHER ot&
0 AN (RN orMEH HHGHH
CHels ARRID XH0| O19RIA MEBEIA PE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Jlotd FAl2cAt 4,000,000 4,000
= 4,000
S NHHNCZ MHZ 0123 AFY 500,000 500,000
401 AlEHIZ SO 500,000 500,000
01 Al&HI 500,000 500,000
ORAE NMHEHEZ MMZ OIS ALY
500,000,000 500,000
g2 S4E N2 LFSA 135,000 135,000
401 AIEHIX R0 135,000 135,000
01 A28l 135,000 135,000
OLYUN RAF HYTR THTA
135,000,000& 135,000
otdaot= MeJ] FotAte 140,000 95,714 44,286
= 98,000
Al 42,000
401 AlEHIZL SO 140,000 95,714 44,286
= 98,000
Al 42,000
01 Al&HI 140,000 95,714 44,286
Odtdot= X0 ot
140,000,000 140,000
= 98,000
Al 42,000
HE &l o™ 2 1,366,943 1,824,314 A457,371
201 2= 314,525 705,032 390,507
01 At22t2lt] 165,998 567,584 A391,586
O1AF 15tE Ale2sS 82 & =238 10,490
OZ2Xt 6,000 *550H 3,300
O&st 15,0002 *70H 1,050
o 5003 *2, 500K 1,250
OM= & g4k 2,000 *550H 1,100
OZ2&A 4,000 5504 2,200
Osl+=% 70,0003 *7H 490
O&H 100,000 +5H 500
Oo=Zglly s 200,000 304 A 600
OAd&II£ W=F 200,000 %52 1,000
oFH YXE(24D)I, ¥I)
500, 0003 »24CH 12,000
OotdE 2| XA & ANEEHHE &Y
Xt 900,000& * 128 10,800
oXIetd e =2 (=T =25
) 200,000& * 11 A+ 123 26,400
OXtE &HIIEHl HIIZAH(RAIE=U)
700,0003 *10H A 700




A ZZANHER ot&
0 AN (RN orMEH HHGHH
St A XHH0I RN MESHE 28 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ObI+E DOUAHIBS 2o
484,000 12& 5,808
0201t d B=+H
1,100,000 *42] 4,400
ORHE RXE+ AMERAHI(B=2sHES
Ab) 93,000,002 93,000
CEEEES 1,400
OJIzASIEBIARS +2
100,000& 4 & »23] 800
Os84E 49 30,0003 x5 *43] 600
02 S52g4l 148,527 147,448 1,079
Oxtgr=7 =l 1,930 +8L*240! 3,723
QI3 (NYSHE ANES)
99,0002 *59H A+ 12002 70,092
O (=&, =2 00V, 82 § X
ZotE AEE)
72,0003 +8IH A+ 1204 2 6,912
Odot==e3(3d4, S+U)
1,000& *130E*5I4 A% 120 7,800
OOJEAEEHl RAIZ2H]
300,000 *2007H 2~ 60,000
203 2=l 2,000 2,000
03 A= PR FA| 2,000 2,000
Odtd FRFA 2,000,000& 2,000
305 e =S 2,000 2,000
01 tHat= S 2,000 2,000
OOJlEAIEE WELR QI8 TiohbHat
1,000,000& *22 2,000
401 Al HIZL 201 841,770 908,634 66,864
01 Al&H| 836,500 902,940 66,440
OStEFX22IALY 541,500
OAE EHl & =Al&el
100,000,000& 100,000
OZ=AlE S (or2sII+ )
50,000,000 50,000
Odtd sAlzel(sta4 FHl & |Xl2el)
150,000,000 150,000
OAIEZHl & 2=(AHZ OHHE, Hi2
s) 200,000,000 200,000
Ottd MIIANE2 EHI(t=F =2,
THAIL SHHY 5) 20,000,000 20,000
OR4E SUEH KA (AEA ==
,CCTV S) 21,500,000& 21,500
OR4H Kol OFMAIZ HIAAY
200,000,000 200,000
ORad MHEX S22 MY
95,000,000 95,000




2A: E2AIE=2F otE Dt
B KOID OfRA OHEE MoIGHA
CHels ARRID XH0| O19RIA MEBEIA PE (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 Al CHYI 5,270 5,6%4 N424
Odt& el 836,500, 000& *0.63% 5,270
403 XIS HMSAHE0IA 206,648 206,648
02 I 2S0HEA=2E S AIS I 206,648 206,648
Ol+=EBIZ 2()e2el(NE, S8, 3,
A4) 51,662,000 *4IH 2~ 206,648
PAUX(2FS) A2 HUIAIY 70,000 0 70,000
401 Al HILS0HY| 70,000 70,000
01 Al&HI 70,000 70,000
ORUF(2FS) AHHZ FHIAIY
70,000,000& 70,000
IZFMLH(otE) 2el 4,050 4,298 A248
201 L2 | 4,050 4,298 A248
01 ArR2eltl 4,050 4,298 N248
QLANLEE =5 150&*2,0000HK 300
OEgrr2 616,0002 x5Z X 3,080
O3II=E =52 67,0002 =102 X 670
= IHIMS (XIS AL 545,121 543,892 1,229
307 212+01 A 295,500 285,700 9,800
02 QIRHEAAIH B = 295,500 285,700 9,800
OozlgtZd=g itz
285,000,000& 285,000
Oote2e|(2@ot2]) Hstx A2 Y ¢y
At 10,500,000& 10,500
401 Al HILS0HY| 151,460 153,654 AN2,1%4
01 Al&HI 151,460 153,654 N2,194
OHES124ARH X LA S2EEHSA
10,000,000 10,000
OEH2eIg21HX L& =2 FHIZAL
89,960,000 89,960
OotA1e| o=t SE A
40,500,000& 40,500
O 432 OtAZTM LRI ZAL
11,000,000 11,000
402 IZERH=0IH 98, 161 104,538 NGB, 377
01 QIZEXH2 A 2 2 (KR E) 98, 161 104,538 ANB,377
O=d1el sIAHFS XA
23,104,000 23,104
oaEee] sIIH-Y XA
23,104,000 23,104
O ZUMS+T Z3SAF XJAAIE
23,104,000& 23,104
O&Z12l cctvA Xl XIJAALS
13,104,000 13,104




A ZZANHER ot&
0 AN (RN orMEH HHGHH
CHels ARRID XH0| O19RIA MEBEIA PE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odtsizel Elbl ¥ s¥s 22| 7Y N
15,744,070& 15,745
HY2AAH(SZAIYE2S Gt D) 55,160 49,953 5,207
J1I=23sl 55,160 49,953 5,207
JI23Hl 55,160 49,953 5,207
201 =3 25,360 19,953 5,407
01 At2t2ltl 25,360 19,953 5,407
OJ|=g =8B 500, 000& x20H 10,000
O=gHI(01=2HI)
8,000 »20H 8« 123 15,360
202 04| 25,200 22,800 2,400
01 2L AL 25,200 22,800 2,400
OJI=&H| 20,0003 x19H x5« 128 22,800
OZ A 04| 200,000& x1E 128 2,400
203 HR=H] 3,600 3,600
M EA2ER=A 3,600 3,600
OJIEH(202!0l5t) 300,000& * 122 3,600
405 KHaHF S| 1,000 3,600 /2,600
01 ML ESFSHI 1,000 3,600 A2,600

g0l ESHEE 500,000 =2CH 1,000




